H & 0l & AHS B Ml A

;08 ESD
C SERIHFH(HEEF D)
IR EEE N (SHol: & 2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
2= 54,931,005 47,284,347 7,646,658
= 27,689,756
Al 18,705,361
- 8,535,883
HY2IZHI(HEERD) 69,575 64,586 4,989
olEIHI(HEE2Ss) 41,483 38,288 3,195
oIF2IHI(HAEES1) 41,483 38,288 3,195
101 2124 d| 39,855 36,765 3,090
02 JIEt& 2 39,855 36,765 3,090
OAIZIEEHAIHOIS(BESAER) 39,855
—JlE2= 2,507,160 x 1B+ 122 30,086
Pl E = 140,000& x 19+ 12 1,680
— Azt 285
9, 160 *1G*30Al 2tx 12 3,298
—Z gAY 140,000 x1H 123 1,680
—GJI2 4|
2,223,910 *84%+86%+*1/30%1/7*70A1 2H 1Y 536
—EA2L
2,223,910 40/ 35+84%+8%* 1+ 122 2,050
—CHRIE =S| 50,0002 *35/40x1H « 128 525
204 MM AH| 1,628 1,523 105
2 MZE2x| 1,628 1,523 105
OAIZIEEHLIMHOIS(ESAER)
155,000 *35/40%1H 12 1,628
[2ZBI(0HEE=1) 28,092 26,298 1,7%
Jl2dtl(H8E2sm) 28,092 26,298 1,7%
201 L2 AH| 13,152 12,648 504
01 AtR2telt] 13,152 12,648 504
OFA2It2| 5,760,000 x95% 5,472
OJ |2 RdHE20HA] 7,680
— By 8,000& x15F +53|x 12& 7,200
—JIEtHA 8,000& x 1853 x 123 480
202 0idl 11,520 10,800 720
01 =WHOdbI 11,520 10,800 720
OJ|2gR+dE=Z 0| 11,520
—BHE 60,000 =158« 12& 10,800
—JIEHE 60,0003 *1H 123 720
203 AR F=&lH| 3,420 2,850 570
M PA2IHRFALI 3,420 2,850 570
ORN2ILRFA|
300,000& * 122 x95% 3,420
dHTS AS 1,279,857 1,200,293 79,564
= 295,362
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AT HEE2S
M QMBS M
=@t ogde B8 25 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 7,560 7,560 0
O0ls &=2t Sl oY g3 =
7,560,000& 7,560
2O Y EHBIAEIA 2 24,200 26,000 /1,800
Al 12,100
- 12,100
201 et 3| 24,200 26,000 1,800
Al 12,100
- 12,100
01 AlR22IH| 24,200 26,000 A 1,800
OS0! OAOIAER I AHIA 2
24,200,000 24,200
Al 12,100
- 12,100
e EH4EA: 2SR 141,280 136,036 6,244
= 70,640
Al 70,640
307 @I2t01 & 141,280 135,036 6,244
= 70,640
Al 70,640
10 Al2ISTIAIEEE 22X 141,280 135,036 6,244
OJtg=ddga 282
141,280,000 141,280
= 70,640
Al 70,640
=S Dol dils 2218 29 16,340 16,340 0
= 11,438
Al 4,902
307 @120l & 16,340 16,340 0
= 11,438
Al 4,902
11 AMRISXAEEES 16,340 16,340 0
OJtE= Jtoliit ndxls 208
16,340,000 16,340
= 11,438
Al 4,902
e =5 Uloioid X2 7,000 7,000
307 el2to| & 7,000 7,000
1 AMEISXAIEEXS 7,000 7,000
OIIE =4 UloiAt A= & ol At
7,000,000& 7,000
=8 Uloik ESAE 29 197,473 190,732 6,741
= 138,231
Al 59,242




AT HEE2S
M QMBS M
=@t ogde B8 25 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 197,473 190,732 6.741
= 138,231
Al 59,242
10 Al SXAAEEHE2EHI2x 197,473 190,732 6,741
Od=ZY TIoiX E5AIE 2 (FE252E
H0l) 197,473,0002 197,473
= 138,231
Al 59,242
=4 ToHkt ESAIE 40 dAH=0 X 8,947 8,627 320
= 8,947
307 gl2to| & 8,947 8,627 320
= 8,947
11 AMEISXAEEES 8,947 8,627 320
OMZ2 WFHK 2BAIE AT MHSO
X (=2 Xt) 8,947,000& 8,947
= 8,947
&S24 Olofkt Mzs =278 29 9,220 9,800 A580
= 6,454
Al 2,766
307 elztol & 9,220 9,800 2580
= 6,454
Al 2,766
1 AMISXAEEXS 9,220 9,800 A580
Od=4 Lokt Xze=s 2208 29
9,220,000& 9,220
= 6,454
Al 2,766
HEZHMHNESAIE 2SXNY(ESAIE Xz X 4,800 4,800 0
)
Al 4,800
307 @I2t01 & 4,800 4,800 0
Al 4,800
10 Al SXAAEEHE 22X 4,800 4,800 0
O&=3 Llolikt E5AE 2z XA
4,800,000& 4,800
Al 4,800
SN0 FHAZ AL 82,360 79,086 3,274
= 57,652
Al 24,708
307 @20l & 82,360 79,086 3,274
= 57,652
Al 24,708
10 Al SXAEEE 22X 82,360 79,086 3,274




2A: 2SI
M AHEHS &S
=@t ogde B8 25 (CHol: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZdIloiHd =HXIAA
82,360,000 82,360
= 57,652
Al 24,708
ZHTIHHE =AXNIAANE LdUHES2 2,000 948 1,052
= 2,000
402 QI2E X201 ™ 2,000 948 1,052
= 2,000
02 QIZIXE2AMEEE(OIMTHE) 2,000 948 1,052
OZgIiHE =AMLY dUES=
2,000,000& 2,000
= 2,000
HEAHAAIE SAA S K& 2,800 1,750 1,050
Al 2,800
307 212+01™ 2,800 1,750 1,050
Al 2,800
DT EEEETEES 2,800 1,750 1,080
ONFESNEA EAT =X N
1,050,000& 1,050
Al 1,050
Os=2 LK SEAL BAX =X K2
1,250,000& 1,250
Al 1,250
OZZUIMNHAE FHXRAAE SALA =X
K& 500,000& 500
Al 500
HEAHAAIE SAHA SE2AZZ | 1,400 1,200 200
Al 1,400
307 212+01™ 1,400 1,200 200
Al 1,400
10 AlSISXAIEHE2ZHIEX 1,400 1,200 200
OJNEZ2A4GA SAX BEHABZTY)
400,000 400
Al 400
OEZ Mok ESAIE SAHK S
A &IH| 600,000& 600
Al 600
OZZUINHAE F=AHXIZAE SAAL S
22| 400,000 400
Al 400
OIEHAAIE AIHIXIA QIZAH| 54,438 72,812 A18,374
Al 54,438
307 212+01™ 54,438 72,812 A18,374
Al 54,438
10 AISIS XA EEER2IHIE R 54,438 72,812 A18,374




2H: GAESY
M QUMES M
=@t ogde B8 25 (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OJEEANTA AKX AlH] 02|
37,929,000 37,929
Al 37,929
OSZAR ESAIE SAK At 0121
| 16,509,000& 16,509
Al 16,509
CIEZNAE EAX 226 L 22X 42 9,000 9,000 0
Al 9,000
307 2I2+01™ 9,000 9,000 0
Al 9,000
10 Al S XA EEHER2IHIE X 9,000 9,000 0
OINEZ2NEA SAX 22 L 22K
=g 3,600,0002 3,600
Al 3,600
OSZMAR EEAIE SAK 22| ¥
ek =g 4,200,000 4,200
Al 4,200
OZSWFHA FHXBAIL BAX S|
2 22|k =Y 1,200,000& 1,200
Al 1,200
HEAHLAIE SAA ARl =& 20,537 20,051 486
Al 20,537
307 212+01™ 20,537 20,051 486
Al 20,537
10 Al =S XA EEHE2IHIE X 20,537 20,051 486
OINEEANEA BAX AIAQ 2
7,366,0002 7,366
Al 7,366
OSZMAR ESAIE SAK AlZHS &
g 8,785,0002 8,785
Al 8,785
OZSWFHHA FHXBAIL BAX A2+
=g 4,386,000 4,386
Al 4,386
&80t HAIXIZ0IE 2IAY 41 1,050 A309
Al 41
201 B2 AY| 41 1,050 A309
Al 41
01 AtR2telt] 41 1,050 A309
ONA0IE SHIXIZI0IE 22X
741,0002 741
Al 41
ST A NESHAY 17,480 0 17,480
Al 17,480
307 QIZ2t01 A 17,480 0 17,480




AT HEE2S
3 J4dEs &4
=@t ogde B8 25 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,480
11 ABI= XA 2 X 17,480 0 17,480
225014 KBS
17,480,000 17,480
Al 17,480
A28 OIS |4 7,910,632 7,087,931 822,701
= 4,395,875
Al 2,231,267
- 1,283,490
MNASIHY d&0oty 1,967,520 1,720,467 247,053
= 1,504,800
Al 419,460
- 43,260
SHRRIIES ¢sHl S N& 1,870,675 1,626,604 244,071
= 1,496,540
Al 374,135
301 EetE NS 1,870,675 1,626,604 244,071
= 1,496,540
Al 374,135
01 Al 2E AL S(SRNEXMH) 1,870,675 1,626,604 244,071
OStR2IETH 2|]Hl S N (HMAS &
22) 1,870,675,000& 1,870,675
= 1,496,540
Al 374,135
FAEeR2 ANEX 10,325 22,006 A11,680
= 8,260
Al 2,065
301 EtE2 NS 10,325 22,005 211,680
= 8,260
Al 2,065
01 Al 2E AL S(FRNEXME) 10,325 22,005 211,680
OFAHERE THE X 10,325,000 10,325
= 8,260
Al 2,065
SIREIE IJHWs K& 51,720 42,098 9,622
Al 25,860
- 25,860
301 LEetE N = 51,720 42,098 9,622
Al 25,860
- 25,860
02 ANBI2HHSFS(HAAS, NLHE) 51,720 42,098 9,622
Ogt220tE MHHu=s A&
51,720,000 51,720
Al 25,860




AT HEE2S
M AU IIE |4
SRl MASOHY MEord (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 25,860
SIREIIE S&ED| Haotd X 34,800 29,760 5,040
Al 17,400
- 17,400
301 2eEN= 34,800 29,760 5,040
Al 17,400
T 17,400
02 MBI 2HHSFHS(HAANS, XLHE) 34,800 29,760 5,040
OstRRIIE G| 34,800,000& 34,800
Al 17,400
- 17,400
HE elzZet 1= 5,161,085 4,657,890 503,195
= 2,622,873
Al 1,560,833
- 977,379
SRS SXAE X 622,617 595,473 27,144
Al 622,617
307 elztol & 622,617 595,473 27,144
Al 622,617
10 AlRISXAZEE 22X 622,617 595,473 27,144
OIS STAIL(QEX2Y) XA
612,117,000 612,117
Al 612,117
OStR2I0HE SIAE(QAENZH) SAK
SXE+ A2 2,700,000& 2,700
Al 2,700
OSIR2IHE SIAE(AENZH) SAK
SR H A 600,000 600
Al 600
OstRRINESINAL (A2 ) SALK
SEHl & 2k =g 7,200,000 7,200
Al 7,200
SIRLIIESRIAIE 4T 4EX= - 2=2H| K 7,200 6,336 864
= 3,600
Al 3,600
307 gl2to| & 7,200 6,336 864
= 3,600
Al 3,600
1 AMISXAIEE X 7,200 6,336 864
OR2IIE SXAE AT 4R - 2
SHI X2 7,200,000 7,200
= 3,600
Al 3,600
SRS SXAE gkt a8ils XA 8,000 3,080 4,920




AT HEE2S
M AU JIE |4
ol O elEet = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,000
Al 4,000
307 lztol & 8,000 3,080 4,920
= 4,000
Al 4,000
11 AMEISXAIEEXS 8,000 3,080 4,920
OstRRIIESAAE 241 &8Xs N
8,000,000 8,000
= 4,000
Al 4,000
SHREIIE AIZ0t0IESAMdIA XIZ 62,857 34,617 28,240
= 44,000
Al 18,857
307 elztol & 62,857 34,617 28,240
= 44,000
Al 18,857
1 AMEISXAEEES 62,857 34,617 28,240
OAlIZ0t0l=SAHIA XIA
62,857,000& 62,857
= 44,000
Al 18,857
MNE&H DB A2 THEl =2IRIAD A AL 3,000 3,000 0
201 =3 3,000 3,000
03 A2 3,000 3,000
OME& DSEAR] THH = SIQIAJHM ALY
3,000,000& 3,000
Eotdeis N2 400,000 400,000
301 EtE N = 400,000 400,000
03 A2 E A0 Z2 (XL THH) 400,000 400,000
O&dEes & 400,000,000 400,000
220HE & G2t X#dH 29 609,620 599,820 9,800
= 304,810
Al 178,825
- 125,985
307 el2to| & 609,620 599,820 9,800
= 304,810
Al 178,825
T 125,985
05 2IMRIE =3 609,620 599,820 9,800
OALIEU2IIEXAME X (SENM
HIA) 609,620,000& 609,620
= 304,810
Al 178,825
T 125,985




AT HEE2S
M AU JIE |4
&2l O elmet 2% (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
22IHE XN HE =288 K& 74,086 30,600 43,486
Al 74,086
307 21201 & 74,086 30,600 43,486
Al 74,086
05 2I2HRIE S 74,086 30,600 43,486
OAdZIIEXNZHEH S= 2&88| A&
74,086,000 74,086
Al 74,086
IS XN HE SALA SXXAE A 4,900 2,600 2,300
Al 4,900
307 elztol & 4,900 2,600 2,300
Al 4,900
05 212+ =S 4,900 2,600 2,300
OAZIE XN HEH SALA =X A&
4,900,000 4,900
Al 4,900
IS X2 HE SALAL SE2H2H &I 2,000 1,800 200
Al 2,000
307 lztol & 2,000 1,800 200
Al 2,000
05 2IR”IRIE = 2,000 1,800 200
OAZINEXHHE SAA 222 8H|
2,000,000 2,000
Al 2,000
ALIE X ZHE SAR ZUSAH L 2= RI|( 11,400 10,200 1,200
HRIMH)
Al 11,400
307 gl2to| & 11,400 10,200 1,200
Al 11,400
05 21t =2 11,400 10,200 1,200
OAZINE XA HE SALA MRIH&H|
11,400,000 11,400
Al 11,400
FAERAD0E X 168,750 165,620 3,130
= 84,375
Al 84,375
307 elztol & 168,750 165,620 3,130
= 84,375
Al 84,375
05 212+ =S 168,750 165,620 3,130
OFA2AIINEXH 168,750,000 168,750
= 84,375
Al 84,375
orolEs= A& 1,360,000 825,000 535,000

_11_




AT HEE2S
M AU JIE |4
el Oy oot = (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 952,000
Al 204,000
- 204,000
307 @I2to| & 1,360,000 825,000 535,000
= 952,000
Al 204,000
- 204,000
1 AMISXAIEEXS 1,360,000 825,000 535,000
Oootol== A& 1,360,000,000& 1,360,000
= 952,000
Al 204,000
- 204,000
SSE0LIsH 29 220,776 219,384 1,392
= 110,388
Al 55,194
- 55,194
307 elztol & 220,776 219,384 1,392
= 110,388
Al 55,194
- 55,194
11 AMEISXAEEES 220,776 219,384 1,392
OZBss0LisH 22 220,776,000& 220,776
= 110,388
Al 55,194
- 55,19%4
SSE0tUsE MY K& 30,000 30,000 0
307 lztol & 30,000 30,000
05 2IMRIE =3 30,000 30,000
OSS=E0LIsH AE XI&
30,000,000& 30,000
=z 0210 S50 47,400 47,400
307 @20l & 47,400 47,400
05 git?(& = 47,400 47,400
Oo0lglol ssud 47,400,000 47,400
O0l=s 2SR 8,5% 0 8,5%
Al 8,5%
307 gl2to| & 8,59% 0 8,59%
Al 8,59
11 AMEISXAEEES 8,59% 0 8,5%
O0lol== ZSEu XA
8,595,000& 8,595
Al 8,595
Rotd olgd & 1,484,000 1,568,000 284,000




AT HEE2S
Za: AAE 1= 54
ol O elEet = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,112,500
Al 259,700
- 111,800
301 EetE2 NS 1,484,000 1,568,000 84,000
= 1,112,500
Al 259,700
- 111,800
01 Al EE AT S (2 RDEXA) 1,484,000 1,568,000 84,000
oxotg olgd X 1,484,000,000& 1,484,000
= 1,112,500
Al 259,700
- 111,800
ol== gsdd+g A& 21,484 0 21,484
Al 21,484
307 glztol & 21,484 0 21,484
Al 21,484
11 ARRIS XA E X 21,484 0 21,484
ootole= 2s8d+g X
21,484,000& 21,484
Al 21,484
FAERE OtSY|Hl AE AIBAIS 14,400 0 14,400
= 7,200
Al 7,200
301 22N = 14,400 0 14,400
= 7,200
Al 7,200
01 ANBIEEELH2(ZDEEML) 14,400 0 14,400
OZAE2R OlSASH| X2
14,400,000& 14,400
= 7,200
Al 7,200
ChEshts X3 782,027 709,574 72,453
= 268,202
Al 250,974
- 262,851
CrEshtEAEEsls 28 2,750 2,663 87
201 er2 3| 1,800 1,713 87
01 AtR2t2|HI 1,800 1,713 87
Ot=2=IEXEE e #4+E
70,0003 * 12 #22] 1,680
OU2IEXAE 23] 0 HE
120,000 120
203 HR=H] 950 950
03 A=A 2= 950 950

_13_




AT HEE2S
mu: AU IIE 8
el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OU2=tE 33 =4
1,000, 0002 *95% 950
CHE3IEEXIE ALY 10,000 15,000 /5,000
307 gl2to| & 10,000 15,000 /5,000
04 QIHHAIAIH 2 £ 10,000 15,000 25,000
Ot=2=htE K& At 10,000,000 10,000
IS U2 uFAE32E AIE X 73,000 65,000 8,000
307 212+01& 73,000 65,000 8,000
05 2ItRIE = 73,000 65,000 8,000
083 U2} uFASS2 M X
73,000,000 73,000
CEstulgasset 24 42,600 41,400 1,200
= 21,300
Al 10,650
- 10,650
307 lztol & 42,600 41,400 1,200
= 21,300
Al 10,650
- 10,650
05 2IR”tRIE = 42,600 41,400 1,200
Ot2stuIAS 32t 29
42,600,000 42,600
= 21,300
Al 10,650
- 10,650
CIE23ISXIZEEH SAHL g=28d] NI 48,302 21,600 26,702
Al 48,302
307 @120l & 48,302 21,600 26,702
Al 48,302
05 2IHRIE S 48,302 21,600 26,702
OUE3IEENEHH SAHL =288 X
= 48,302,000& 48,302
Al 48,302
CIEst S HE SAHLE X8+ X 3,650 1,800 1,850
Al 3,650
307 212+01& 3,650 1,800 1,850
Al 3,650
05 212t =S 3,650 1,800 1,850
OUEeIENEMH SAHL SAE+ XI&E
3,650,000 3,650
Al 3,650
CIESAEEE SAHA AZ3 8 X3 1,000 1,800 2800
Al 1,000
307 lztol & 1,000 1,800 A800




AT HEE2S
M AU IIE |4
el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,000
05 212t =S 1,000 1,800 A800
OU2IIEXJEE SAG H2B 8]
1,000,000& 1,000
Al 1,000
CH2aERIYAE SAHR S8 X2 (HLHA) 8,400 7,200 1,200
Al 8,400
307 lztol & 8,400 7,200 1,200
Al 8,400
05 git?(& = 8,400 7,200 1,200
OU2IFHIIZAME SAHAL MIHAHI
8,400,000 8,400
Al 8,400
CHESHE S3tAtY 376,965 334,501 42,464
= 188,482
Al 94,242
- 94,241
307 gl2to| & 376,965 334,501 42,464
= 188,482
Al 94,242
- 94,241
05 21t =S 376,965 334,501 42,464
Ot2=htE SatAtg 376,965,000 376,965
= 188,482
Al 94,242
T 94,241
ZE0I12A S 20,000 24,500 24,500
= 10,000
Al 5,000
- 5,000
307 elztol & 20,000 24,500 24,500
= 10,000
Al 5,000
- 5,000
05 2IR”tRIE = 20,000 24,500 24,500
Ottzaks et=0lus 20,000,000 20,000
= 10,000
Al 5,000
- 5,000
H0bl= ZE0IF0id LIS A& 5,940 5,940 0
= 2,970
Al 1,485
- 1,485




2A: 2SI
M AU IIE |4
o©2l: O28s A& (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 5,940 5,940 0
= 2,970
Al 1,485
- 1,485
05 QIZtAErZ 5,940 5,940 0
O0tE 220104 CHOIZ AMY
5,940,000& 5,940
= 2,970
Al 1,485
- 1,485
CIE23ts &38| NE AIZIZE otNe 2 90,900 89,500 1,400
- 45,450
Al 22,725
- 22,725
307 QIZt01A 90,900 89,500 1,400
= 45,450
Al 22,725
- 22,725
05 It/ e g 90,900 89,500 1,400
OFAY L AZHY X2
46,700,000 46,700
= 23,350
Al 11,675
- 11,675
OF&EY &5 44,200,000 44,200
= 22,100
Al 11,050
- 11,050
NG ESE C2ets XI3AAME 14,000 14,000 0
Al 7,000
- 7,000
307 QIZ2t01 A 14,000 14,000 0
Al 7,000
- 7,000
05 CIZtRIErZ 14,000 14,000 0
OChzets Xt 0150 &Sk
10,000,000& 10,000
Al 5,000
- 5,000
ObzshtE 282 Stete /s <A el
mEs| 4,000,000& 4,000
Al 2,000
- 2,000
CHE3tE XHH HEZ ALY 10,120 14,270 A4,150




AT HEE2S
M AU IIE |4
el CEshts A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,120
307 gl2tol & 10,120 14,270 A4,150
Al 10,120
05 2ItRIE =S 10,120 14,270 24,180
OUtEabts A HEE At
10,120,000& 10,120
Al 10,120
Z20/8X LXtel XA 63,000 59,000 4,000
Al 31,500
- 31,500
307 elztol & 63,000 59,000 4,000
Al 31,500
- 31,500
05 212t =S 63,000 59,000 4,000
OZ =021k 22l X3
35,000,000& 35,000
Al 17,500
- 17,500
OZ =012k LXtel AAHAS
28,000,000& 28,000
Al 14,000
- 14,000
CIE2HE Ols 2E 30 JEZA A2 A 2,400 2,400 0
Al 2,400
307 2I2t0| & 2,400 2,400 0
Al 2,400
1 AR SXAIEE X 2,400 2,400 0
OLH2EIE 0IS2E 0§ FUAA X2
Ared 2,400,000 2,400
Al 2,400
CheebiEs Hx22gy X 4,000 4,000 0
Al 2,000
- 2,000
307 elztol & 4,000 4,000 0
Al 2,000
T 2,000
11 AMEISXAEEES 4,000 4,000 0
OUH2eHE d=I2 08 Al
4,000,000& 4,000
Al 2,000
- 2,000
CHESIS 2DDHE HEXIE At 5,000 5,000 0
Al 2,500
- 2,500




2A: 2SI
M AL IIE 84
el CEshts A (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 5,000 5,000 0
Al 2,500
- 2,500
11 AL =SXAMEES 5,000 5,000 0
ORIDIDHY JIEXE Al 5,000,000& 5,000
Al 2,500
- 2,500
2= - It=E K& 45,670,941 38,931,537 6,739,404
= 22,998,519
Al 16, 188,540
- 6,483,882
FAROIESMEIALS D|EtEtE 45,244,941 38,451,537 6,793,404
= 22,877,519
Al 16, 128,040
- 6,239,382
ERWAR oIAHH| X (Z2HIEX) 5,643,113 6,033,885 A390,772
= 3,385,868
Al 1,580,072
- 677,173
307 212+01™ 5,643,113 6,033,885 A390,772
= 3,385,868
Al 1,580,072
- 677,173
10 Al =S XA EEHE2IHIE X 5,643,113 6,033,885 A390,772
OBguAa ol2d|(=HIB2x
5,643, 113,000& 5,643,113
= 3,385,868
Al 1,580,072
- 677,173
BEuWA olAH| X2 (KA 47,3% 49,167 A1,775
307 212+01™ 47,3% 49,167 A1,775
10 Al =S XA EEHER2IHIE X 47,392 49,167 AN1,775
OEswad ol2dl(==8 HiCtoEl0l&)
47,392,000& 47,392
HL0IXE oelold =2|& 212d| X (AHIEX) 220,800 172,800 48,000
Al 110,400
- 110,400
307 2I2+01A 220,800 172,800 48,000
Al 110,400
- 110,400
10 Al =S XA EEE2IHIE X 220,800 172,800 48,000
OFR0IXE oelolE =2l olAd| X (
AMHIEZE) 220,800,000& 220,800




AT HEE2S
ZH: 2% 1% K8
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 110,400
T 110,400
SSDAY HRME RIR( WA, AZE M WA} 2,433,333 2,399,150 34,183
o1244l)
= 1,460,000
Al 681,333
T 292,000
307 elztol & 2,433,333 2,399,150 34,183
= 1,460,000
Al 681,333
- 292,000
10 AlRISTIAIEEE 22X 2,433,333 2,399,150 34,183
SXWAL, AL BZ WAL 12|
2,433,333,000& 2,433,333
= 1,460,000
Al 681,333
- 292,000
ESUAR HRMH X2 (MDA 2124H]) 62,600 151,800 289,200
= 31,300
Al 15,650
- 15,650
307 212+01& 62,600 151,800 /89,200
= 31,300
Al 15,650
- 15,650
10 Al SXAIZEE2EHIEx 62,600 151,800 /89,200
OUM AL e124H| 62,600,000 62,600
= 31,300
Al 15,650
- 15,650
SN MM X (DAR2REZIH4]) 1,343,694 1,405,700 /62,006
= 806,217
Al 376,234
- 161,243
307 gl2to| & 1,343,694 1,405,700 A\62,006
= 806,217
Al 376,234
- 161,243
10 Al2ISIIAIEEE 22X 1,343,694 1,405,700 /62,006
OuAZReZ & 1,343,694,000& 1,343,694
= 806,217
Al 376,234
T 161,243




2A: 2SI
ZH: 2% 1% K8
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SN2 ML X2(DAERJAZE =H) 54,000 54,000 0
= 32,400
Al 15,120
- 6,480
307 QIZ2t01 A 54,000 54,000 0
= 32,400
Al 15,120
- 6,480
10 Al = XA EHE2FHIE X 54,000 54,000 0
QuUANBHAEY =H 54,000,000& 54,000
= 32,400
Al 15,120
- 6,480
B WA HLIHSHI(AIBIEX) 1,216,312 1,227,480 A11,168
Al 608, 156
- 608, 156
307 QIZ2t01 A 1,216,312 1,227,480 A11,168
Al 608, 156
- 608, 156
10 AlSISXAIEHE2ZHIEX 1,216,312 1,227,480 A11,168
ORFIAF HLIEHI (A2 E)
1,216,312,000& 1,216,312
Al 608, 156
- 608, 156
SBRWAF MM EHI(KHA) 877,200 854,040 23,160
307 gI2tol ™ 877,200 854,040 23,160
10 Al = XA EHE2FHIE X 877,200 854,040 23,160
OBSUWA H2ME X (XHA) 877,200
—ERUAI SXE 624,000,000& 624,000
—&J|125+Y 97,200,000 97,200
— YOI EFS AR =SX=Y
26,400,000& 26,400
—=38 HIOHE 0l 22+Y
9,600,000& 9,600
—EBFUAA BESY 120,000,000& 120,000
02l0ld SEX 2 (LIHw2H]) 51,943 55,677 A3,734
= 31,166
Al 14,544
- 6,233
307 212+01 A 51,943 55,677 A3, 734
= 31,166
Al 14,544
- 6,233




DA GEESD
3 25 - 01=F &
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 51,943 55,677 A3, 734
Ou M w-H] 51,943,000 51,943
= 31,166
Al 14,544
- 6,233
Ofelold 2XId (HE2dHl) 2,400 2,400 0
= 1,440
Al 672
- 288
307 212+01& 2,400 2,400 0
= 1,440
Al 672
- 288
10 Al SXAEEE 22X 2,400 2,400 0
OXg=gHl 2,400,000& 2,400
= 1,440
Al 672
- 288
E==08018 =2& X& 101,828 102,050 N2
Al 50,914
- 50,914
307 212+01& 101,828 102,050 N222
Al 50,914
T 50,914
10 Al SXAIEEHE2EHI2x 101,828 102,050 N2
S40RI01E 2% X
62,678,000& 62,678
Al 31,339
- 31,339
OHMOINY 2 WAL XIS
39, 150,000& 39,150
Al 19,575
- 19,575
eIdd Olelold X 276,952 204,946 72,006
Al 144,476
- 132,476
307 el2to| & 264,952 200,946 64,006
Al 132,476
- 132,476
10 AlISXAIZEHE 22X 264,952 200,946 64,006
Oeldg oelold =&l
264,952,000 264,952
Al 132,476
- 132,476

_21_




AT HEE2S
Hu: 2501 1
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 12,000 4,000 8,000
Al 12,000
02 RIENEASEZ(0IETHR) 12,000 4,000 8,000
Oeldd 0lelold SZHA
12,000,000 12,000
Al 12,000
020l ety 67,756 67,246 510
Al 33,878
- 33,878
307 212+01& 67,756 67,246 510
Al 33,878
T 33,878
10 Al2ISXIAIEEE 22X 67,75 67,246 510
O0el0ld ittt 67,756,000 67,75
Al 33,878
- 33,878
=S8 Bitoelolds 28X 10,000 10,000 0
307 @120l & 10,000 10,000
05 git?(& = 10,000 10,000
O=2Y HICIRI0IE 2|
10,000,000& 10,000
012101 S5AI0H 22ZHl I 722,100 704,704 17,3%
Al 361,050
T 361,050
307 elzto| & 722,100 704,704 17,3%
Al 361,050
- 361,050
10 Al SXAAEEHE 22X 722,100 704,704 17,3%
OOfRI0IZ BISKIOL 2RI X
701,400,000 701,400
Al 360,700
- 350,700
O0el0lE 2=l 2BAI0L 2238 X
20,700,000 20,700
Al 10,350
- 10,350
HE NASE0S 234l A& 75,192 70,740 4,452
Al 37,596
- 37,596
307 @12t01 & 75,192 70,740 4,452
Al 37,596
- 37,596
10 Al2ISTIAIEEE 22X 75,192 70,740 4,452




AT HEE2S
Hu: BRI X
el FROIESAMEIAS JIEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE HASE0S el A
75,192,000& 75,192
Al 37,596
- 37,5%
FR0IXNEANE 2LRFEES: K& 571,344 577,188 Nb,844
Al 175,836
- 395,508
307 212+01& 571,344 577,188 ADb,844
Al 175,836
- 395,508
10 AlRISTIAIEEE 22X 571,344 577,188 N\b,844
OEINLSE Ot 3R0INAANE 222
gE2ss X2 34,824,000 34,824
Al 17,412
- 17,412
OUAHIHE R2RgE=E X
57,600,000 57,600
Al 40,320
- 17,280
OR2RHEE=sE K& 472,800,000 472,800
Al 116,508
- 366,292
O0el0lE 2=0I0ls 2hMl FRFEES
= 6,120,000 6,120
Al 1,59%
- 4,524
=g 12 772,662 2,146,768 1,374,106
= 579,4%
Al 135,216
- 57,950
301 EtE NS 772,662 2,146,768 A1,374,106
= 579,4%6
Al 135,216
- 57,950
01 Al EE A S (2 RDEEMA) 772,662 2,146,768 1,374,106
Orggs=¢ 772,662,000 772,662
= 579,4%
Al 135,216
- 57,950
Folitd 28 6,784,434 6,495,944 288,490
Al 6,784,434
307 elztol & 6,784,434 6,495,944 288,490
Al 6,784,434
11 AMRISXAEEES 6,784,434 6,495,944 288,490

_23_




AT HEE2S
ZH: 2% 1% K8
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=cltd E528 5,211,360,000& 5,211,360
Al 5,211,360
O=cltd g8+E 1,573,074,000& 1,573,074
Al 1,573,074
g=0t 252 K& 13,655,264 14,105,594 450,330
= 10,241,448
Al 2,389,671
- 1,024,145
307 gl2to| & 13,655,264 14,105,594 450,330
= 10,241,448
Al 2,389,671
- 1,024,145
11 AMEISXAEEXS 13,655,264 14,105,594 450,330
OgRot 252 X&E 13,655,264,000& 13,655,264
= 10,241,448
Al 2,389,671
T 1,024,145
ARIHSE (AIZEM) 2 46,000 53,276 NT,276
= 23,000
Al 11,500
T 11,500
307 glztol & 46,000 53,276 NT,276
= 23,000
Al 11,500
- 11,500
10 Al2ISTIAIEEE 22X 46,000 53,276 NT,276
OALISE (AN ES
46,000,000 46,000
= 23,000
Al 11,500
- 11,500
BR0ugt 25 9,804 9,804 0
201 er2 3| 7,904 7,904
01 At2teltl 7,404 7,404
OESTFHAYS 29
100,000 x 13 *43] 5,200
OEsoluet 25E flgt A23H|
1,000,000 1,000
OO0l eot, NEEHE & WSHA S
= 6,400 * 1602 1,024
O+ =ZHAIE 23 MH
30,0002 60 180
02 S3=gHl 500 500 0
ORER3 500,000 500

_24_




AT HEE2S
Hu: BRI X
el FROIESAMEIAS JIEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 1,900 1,900
03 A=A 2= 1,900 1,900
OEFAIH =& 1,000, 0002 *95% 950
OESAE g% =8 1,000,000 «05% 950
012018 EsuWAE s 25,000 21,600 3,400
201 fer=3| 21,000 18,000 3,000
03 A= I 21,000 18,000 3,000
O0elold EsuXE Ads
21,000,000 21,000
301 EtE NS 4,000 3,600 400
11 dALEEIXIE S 4,000 3,600 400
OofRI0IE BRRXA A3B(3TY)
4,000,000& 4,000
CEEY ddzEt 29 NE 273,988 264,274 9,714
Al 136,994
- 136,994
307 21201 & 273,988 264,274 9,714
Al 136,994
- 136,994
05 2ItRIE = 273,988 264,274 9,714
OSYTY HUAHC 29| X
34,248,500 +2I1 2= +4 3] 273,988
Al 136,994
- 136,994
S3E0RI0IE 2HI(HEAY) 343,864 226,705 117,159
Al 302,600
- 41,264
307 @12t01 & 343,864 226,705 117,159
Al 302,600
= 41,264
1 ABIS XA X 343,864 206,706 117,159
OBBHEOI0IT 22|
343,864,000 343,864
Al 302,600
- 41,264
S3E00/d xcld A 112,530 81,000 31,530
Al 56,265
- 56,265
307 @120l & 112,530 81,000 31,530
Al 56,265
- 56,265
11 AMRISXAEEES 112,530 81,000 31,530
O33€0el0ld £eld el2t]
112,530,000 112,530

_25_




2A: 2SI
M 28015 X9
el FROIESAMEIAS JIEES EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 56,265
- 56,265
SN0 43t XA 10,600 3,19 7,404
Al 5,300
- 5,300
307 QI2Hol ™ 10,600 3,1%6 7,404
Al 5,300
- 5,300
11 AMSIESXAEEX 10,600 3,196 7,404
OBBHOIZ0IZ HH3 NA(K0K 2
(D] 10,600,000 10,600
Al 5,300
- 5,300
Hglold EERAZA X2 559,152 531,049 28,103
Al 391,406
- 167,746
307 QI2tol ™ 559,152 531,049 28,103
Al 391,406
- 167,746
11 Al =SXAMEES 559,152 531,049 28,103
OOfRI01E HESATA Xg
559, 152,000& 559,152
Al 391,406
- 167,746
FIRI2LIHEH 29 6,000 6,600 AB00
= 3,000
Al 1,500
- 1,500
301 LEENZ 6,000 6,600 AB00
= 3,000
Al 1,500
- 1,500
14 JIEt2 A3 6,000 6,600 AB00
ORRUHYHE BSR4
6,000,000& 6,000
= 3,000
Al 1,500
- 1,500
020l dR0t HMEH It X2 18,678 18,054 624
Al 9,339
- 9,339
307 2I2+01A 18,678 18,04 624
Al 9,339
- 9,339




AT HEE2S
Hu: BRI X
el FROIESAMEIAS JIEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 18,678 18,054 624
O0el0lE WH0ts HEEE IS
18,678,000& 18,678
Al 9,339
- 9,339
OOIAIH EE 2 (2HIEX) 86,552 86,552 0
= 27,597
Al 29,478
- 29,477
307 gl2to| & 86,552 86,552 0
= 27,597
Al 29,478
- 29,477
05 212t =S 86,552 86,552 0
OOLOIAE BH 2HI(SHIEX)
86,552,000& 86,552
= 27,597
Al 29,478
T 29,477
OlOINEEH EX R 28 263,104 209,828 53,276
Al 131,552
- 131,552
307 @20l & 173,104 129,828 43,276
Al 86,552
- 86,552
05 2IR”IRIE = 173,104 129,828 43,276
OOLOIAtEEE 29| 173,104,000 173,104
Al 86,552
- 86,552
401 Al HIZ 2018 70,000 60,000 10,000
Al 35,000
- 35,000
01 AlZH| 69,460 59,460 10,000
OOLOIAEBH &XI(2l2gd)
69,460,000& 69,460
Al 34,730
- 34,730
03 Al 20HHI 540 540 0
OOLOIAEEH &Xi(el2ged)
540,000 540
Al 270
- 270
405 KHoHFSH| 20,000 20,000 0
Al 10,000

_27_




AT HEE2S
Hu: 2501 1
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 10,000
01 ML ESFSHI 20,000 20,000 0
OOLOIAZBE EXI(OIRH L)
20,000,000& 20,000
Al 10,000
- 10,000
Oelold gH=28 S(AsH|) N2 14,700 42,000 27,300
Al 7,350
- 7,350
307 elzto| & 14,700 42,000 27,300
Al 7,350
- 7,350
10 AlISXAAEEHE 22X 14,700 42,000 A27,300
O0lRlold gA25S(4=Hl) X
14,700,000& 14,700
Al 7,350
- 7,350
Helold otssti(alel) I 22X 5,000 5,000 0
301 EtE NS 5,000 5,000
03 AL 2 & A 263 (XL E) 5,000 5,000
OO0lRI0IR OISt (Al2)XI2 X2
5,000,000& 5,000
22320 X (S0ot=<) 8,339,450 0 8,339,450
= 6,254,587
Al 1,459,404
- 625,459
301 EtE N = 8,339,450 0 8,339,450
= 6,254,587
Al 1,450,404
- 625,459
01 AR 2EHSHS(RNEXRTH) 8,339,450 0 8,339,450
OR220 X2 (Z0t+=2)
8,339,450,000& 8,339,450
= 6,254,587
Al 1,450,404
- 625,459
J20IXE Olelold oMIer 24| X 98,400 0 98,400
Al 49,200
- 49,200
307 el2to| & 98,400 0 98,400
Al 49,200
- 49,200
10 AlISXAIZEHE 22X 98,400 0 98,400

_28_




2A: 2SI
M BRI X
oelr SRO0IESABIAL J|BEE EER=E)
SA - B S9I(B1) - KIRA - ol b e HlmS2
OF=0Xd 00T OMEr 22l X
98,400,000 98,400
Al 49,200
- 49,200
OEl0] OIZAIE SAHAF M W=H| 8,200 0 8,200
Al 4,100
- 4,100
307 QIZt01 A 8,200 0 8,200
Al 4,100
- 4,100
1 ASI=SXAIEEE 8,200 0 8,200
OO0{2l0] OIEAIE SALL St =H|
10,0002 820 8,200
Al 4,100
- 4,100
Helold 222! Ot=s 2HBAIoH ]2 XIJ 33,600 0 33,600
Al 16,800
- 16,800
307 QIZ2t01 A 33,600 0 33,600
Al 16,800
- 16,800
11 AR SXAMEE R 33,600 0 33,600
ONglolE 2/=2l Ots Mo Ex2 XI#
33,600,000 33,600
Al 16,800
- 16,800
Helold J1sdst 426,000 480,000 A54,000
= 121,000
Al 60,500
- 244,500
O2I01& JIs2Z(XAHHl) 44,000 44,000
402 SIZERH=0I1H 44,000 44,000
03 QIZtR| ErAL | 44,000 44,000
OF2XANE0IE JIsEBZOIE=)
44,000,000& 44,000
OHElolE JIsBH(BX) 2,000 36,000 A34,000
= 1,000
Al 500
- 500
402 SI2ER=0H 2,000 36,000 A34,000
= 1,000
Al 500
- 500
02 QIZEXH2AIZ 2 (01 & TH &) 2,000 6,000 24,000




AT HEE2S
I N R
Cel: oelold JIs&st EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF=XA0RI0IE JISEL(EHIH)
2,000,000& 2,000
= 1,000
Al 500
- 500
ool &= 380,000 400,000 220,000
= 120,000
Al 60,000
- 200,000
401 Al HIZL 201 200,000 300,000 100,000
= 100,000
Al 50,000
- 50,000
01 Al&HI 198,400 297,600 299,200
O3S58 cl22E (500MU 014)
99,200,000 #2012 198,400
= 99,200
Al 49,600
- 49,600
03 Al 20HHI 1,600 2,400 A800
O3S 2|22 (5004t 014f)
800,000 x2JH 2 1,600
= 800
Al 400
- 400
402 QI2H X201 & 180,000 100,000 80,000
= 20,000
Al 10,000
- 150,000
03 2IZHAETAIHHI 180,000 0 180,000
O=ZE 001 JIXHIHHI(500AICH Ol4t)
70,000,000 70,000
O=Z&0{&l0lZ JIXHHBI(500AICH OIet)
70,000,000& 70,000
O=ZE0&I0I& JIXtIHEI(500AICH O14t)
40,000,000 40,000
= 20,000
Al 10,000
- 10,000




